

## A refinement of a Radon type inequality

DUMITRU M. BĂTINEȚU-GIURGIU, DORIN MĂRGHIDANU and OVIDIU T. POP

**ABSTRACT.** In this paper we prove a refinement of a Radon type inequality, previously considered by authors in [Bătinețu-Giurgiu, D. M. and Pop, O. T., *A generalization of Radon's inequality*, *Creat. Math. Inform.*, **19** (2010), No. 2, 116–121] and [Bătinețu-Giurgiu, D. M., Mărghidanu, D. and Pop, O. T., *A new generalization of Radon's inequality and applications*, *Creat. Math. Inform.*, **20** (2011), No. 2, 111–116].

### 1. INTRODUCTION

Let  $\mathbb{N}$  be the set of positive integers,  $\mathbb{N} = \{1, 2, \dots\}$ . The inequality from (1.1) is usually known in literature as Bergström's inequality, see [3], [4], [5], [7], [9], [11], [12], [18].

**Theorem 1.1.** *If  $n \in \mathbb{N}$ ,  $x_k \in \mathbb{R}$  and  $y_k > 0$ ,  $k \in \{1, 2, \dots, n\}$ , then*

$$\frac{x_1^2}{y_1} + \frac{x_2^2}{y_2} + \dots + \frac{x_n^2}{y_n} \geq \frac{(x_1 + x_2 + \dots + x_n)^2}{y_1 + y_2 + \dots + y_n}, \quad (1.1)$$

*with equality if and only if  $\frac{x_1}{y_1} = \frac{x_2}{y_2} = \dots = \frac{x_n}{y_n}$ .*

In [19], Radon proved the inequality from Theorem 1.2, currently called Radon's inequality.

**Theorem 1.2.** *If  $n \in \mathbb{N}$ ,  $x_k \geq 0$ ,  $y_k > 0$ ,  $k \in \{1, 2, \dots, n\}$  and  $p \geq 0$ , then*

$$\frac{x_1^{p+1}}{y_1^p} + \frac{x_2^{p+1}}{y_2^p} + \dots + \frac{x_n^{p+1}}{y_n^p} \geq \frac{(x_1 + x_2 + \dots + x_n)^{p+1}}{(y_1 + y_2 + \dots + y_n)^p}. \quad (1.2)$$

In [1] we proved a generalization of Radon's inequality which is the inequality from the next Theorem 1.3.

**Theorem 1.3.** *If  $n \in \mathbb{N}$ ,  $x_k \geq 0$ ,  $y_k > 0$ ,  $k \in \{1, 2, \dots, n\}$ ,  $p \geq 0$  and  $r \geq 1$ , then*

$$\frac{x_1^{p+r}}{y_1^p} + \frac{x_2^{p+r}}{y_2^p} + \dots + \frac{x_n^{p+r}}{y_n^p} \geq \frac{(x_1 y_1^{r-1} + x_2 y_2^{r-1} + \dots + x_n y_n^{r-1})^{p+r}}{(y_1^r + y_2^r + \dots + y_n^r)^{p+r-1}}, \quad (1.3)$$

*with equality if and only if  $\frac{x_1}{y_1} = \frac{x_2}{y_2} = \dots = \frac{x_n}{y_n}$ .*

On the other hand, in [3] we proved another generalization of Radon's inequality.

**Theorem 1.4.** *If  $n \in \mathbb{N}$ ,  $x_k \geq 0$ ,  $y_k > 0$ ,  $k \in \{1, 2, \dots, n\}$  and  $p \geq r \geq 0$ ,*

$$\frac{x_1^{p+1}}{y_1^r} + \frac{x_2^{p+1}}{y_2^r} + \dots + \frac{x_n^{p+1}}{y_n^r} \geq n^{r-p} \frac{(x_1 + x_2 + \dots + x_n)^{p+1}}{(y_1 + y_2 + \dots + y_n)^r}, \quad (1.4)$$

*with equality if and only if  $x_1 = x_2 = \dots = x_n$  and  $y_1 = y_2 = \dots = y_n$ .*

Received: 06.06.2016. In revised form: 03.05.2018. Accepted: 10.05.2018

2010 *Mathematics Subject Classification.* 26D15.

Key words and phrases. *Radon's Inequality.*

Corresponding author: [ovidutiuberiu@yahoo.com](mailto:ovidutiuberiu@yahoo.com)

The main aim of this note is to prove a refinement of the Radon type inequality (1.3).

## 2. REFINEMENTS OF SOME RADON TYPE INEQUALITIES

In this section, we prove a refinement of the inequality from (1.3). In the proof we use the idea from [11].

**Theorem 2.5.** *If  $p, r \in \mathbb{R}$ ,  $p + r - 2 \geq 0$ ,  $a, b > 0$  and  $x, y \geq 0$ , then*

$$\begin{aligned} & \frac{x^{p+r}}{a^p} + \frac{y^{p+r}}{b^p} - \frac{(xa^{r-1} + yb^{r-1})^{p+r}}{(a^r + b^r)^{p+r-1}} \\ & \geq \frac{(p+r-1)(ab)^{r-2}(xa^{r-1} + yb^{r-1})^{p+r-2}(bx - ay)^2}{(a^r + b^r)^{p+r-1}}. \end{aligned} \quad (2.5)$$

*Proof.* We have that

$$\begin{aligned} & \frac{x^{p+r}}{a^p} + \frac{y^{p+r}}{b^p} - \frac{(xa^{r-1} + yb^{r-1})^{p+r}}{(a^r + b^r)^{p+r-1}} = \\ & \frac{b^p x ((xa^r + b^r))^{p+r-1} - (a(xa^{r-1} + yb^{r-1}))^{p+r-1} - a^p y ((b(xa^{r-1} + yb^{r-1}))^{p+r-1} - (y(a^r + b^r))^{p+r-1})}{a^p b^p (a^r + b^r)^{p+r-1}}. \end{aligned} \quad (2.6)$$

Without loss of generality, we can assume that  $bx \geq ay$ . From this inequality, it results that

$$x(a^r + b^r) \geq a(xa^{r-1} + yb^{r-1})$$

and

$$b(xa^{r-1} + yb^{r-1}) \geq y(a^r + b^r).$$

The following inequality is well-known: for any  $\alpha \geq 1$  and  $0 < u \leq v$ , the inequality

$$\alpha u^{\alpha-1}(v-u) \leq v^\alpha - u^\alpha \leq \alpha v^{\alpha-1}(v-u)$$

holds.

By using these inequalities in the right member of (2.6), we obtain

$$\begin{aligned} & \frac{b^p x ((xa^r + b^r))^{p+r-1} - (a(xa^{r-1} + yb^{r-1}))^{p+r-1} - a^p y ((b(xa^{r-1} + yb^{r-1}))^{p+r-1} - (y(a^r + b^r))^{p+r-1})}{a^p b^p (a^r + b^r)^{p+r-1}} \\ & \geq \frac{b^p x (p+r-1)(a(xa^{r-1} + yb^{r-1}))^{p+r-2}(xb^r - ayb^{r-1}) - a^p y (p+r-1)(b(xa^{r-1} + yb^{r-1}))^{p+r-2}(bxa^{r-1} - ya^r)}{a^p b^p (a^r + b^r)^{p+r-1}} \\ & = \frac{(p+r-1)(xa^{r-1} + yb^{r-1})^{p+r-2}(ab)^{p+r-2}(bx - ay)^2}{a^p b^p (a^r + b^r)^{p+r-1}}. \end{aligned}$$

From the inequality above and (2.6), inequality (2.5) follows. The inequality in (2.5) holds if and only if  $bx = ay$  or  $p + r = 2$ .  $\square$

**Theorem 2.6.** *If  $n, m \in \mathbb{N}$ ,  $n > m$ ,  $x_k \geq 0$ ,  $y_k > 0$ ,  $k \in \{1, 2, \dots, n\}$ ,  $p \geq 0$  and  $r \geq 1$ , then*

$$\sum_{k=m+1}^n \frac{x_k^{p+r}}{y_k^p} + \frac{\left(\sum_{k=1}^m x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=1}^m y_k^r\right)^{p+r-1}} \geq \frac{\left(\sum_{k=1}^n x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=1}^n y_k^r\right)^{p+r-1}}. \quad (2.7)$$

*Proof.* By using inequality (1.3), we have that

$$\sum_{k=m+1}^n \frac{x_k^{p+r}}{y_k^p} \geq \frac{\left(\sum_{k=m+1}^n x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=m+1}^n y_k^r\right)^{p+r-1}}$$

ad then

$$\begin{aligned} & \sum_{k=m+1}^n \frac{x_k^{p+r}}{y_k^p} + \frac{\left(\sum_{k=1}^m x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=1}^m y_k^r\right)^{p+r-1}} \\ & \geq \frac{\left(\sum_{k=1}^m x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=1}^m y_k^r\right)^{p+r-1}} + \frac{\left(\sum_{k=m+1}^n x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=m+1}^n y_k^r\right)^{p+r-1}}. \end{aligned} \tag{2.8}$$

By applying Radon’s inequality, we have that

$$\begin{aligned} & \frac{\left(\sum_{k=1}^m x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=1}^m y_k^r\right)^{p+r-1}} + \frac{\left(\sum_{k=m+1}^n x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=m+1}^n y_k^r\right)^{p+r-1}} \\ & \geq \frac{\left(\sum_{k=1}^m x_k y_k^{r-1} + \sum_{k=m+1}^n x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=1}^m y_k^r + \sum_{k=m+1}^n y_k^r\right)^{p+r-1}} \end{aligned}$$

and by taking (2.8) into account, inequality (2.7) follows. □

**Theorem 2.7.** *If  $n, m \in \mathbb{N}, n > m, x_k \geq 0, y_k > 0, k \in \{1, 2, \dots, n\}, p \geq 0, r \geq 1$  and*

$$a_i = \sum_{k=1}^i \frac{x_k^{p+r}}{y_k^p} - \frac{\left(\sum_{k=1}^i x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=1}^i y_k^r\right)^{p+r-1}}, \quad i \in \mathbb{N}, i \leq n, \tag{2.9}$$

then

$$a_n \geq a_m. \tag{2.10}$$

*Proof.* If in inequality (2.7), we add in each member  $\sum_{k=1}^m \frac{x_k^{p+r}}{y_k^p}$ , we obtain

$$\sum_{k=1}^m \frac{x_k^{p+r}}{y_k^p} + \frac{\left(\sum_{k=1}^m x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=1}^m y_k^r\right)^{p+r-1}} \geq \sum_{k=1}^m \frac{x_k^{p+r}}{y_k^p} + \frac{\left(\sum_{k=1}^n x_k y_k^{r-1}\right)^{p+r}}{\left(\sum_{k=1}^n y_k^r\right)^{p+r-1}},$$

from where, inequality (2.10) is obtained. □

**Corollary 2.1.** *In the conditions of Theorem 2.7, we have*

$$a_n \geq a_{n-1} \geq \dots \geq a_2 \geq a_1 = 0. \tag{2.11}$$

*Proof.* It results from Theorem 2.7. □

**Theorem 2.8.** If  $n \in \mathbb{N}$ ,  $x_k \geq 0$ ,  $y_k > 0$ ,  $k \in \{1, 2, \dots, n\}$ ,  $p \geq 0$ ,  $r \geq 1$  and  $p + r - 2 \geq 0$ , then

$$\begin{aligned} & \frac{x_1^{p+r}}{y_1^p} + \frac{x_2^{p+r}}{y_2^p} + \dots + \frac{x_n^{p+r}}{y_n^p} - \frac{(x_1 y_1^{r-1} + x_2 y_2^{r-1} + \dots + x_n y_n^{r-1})^{p+r}}{(y_1^r + y_2^r + \dots + y_n^r)^{p+r-1}} \\ & \geq \max_{1 \leq i < j \leq n} \left( \frac{x_i^{p+r}}{y_i^p} + \frac{x_j^{p+r}}{y_j^p} - \frac{(x_i y_i^{r-1} + x_j y_j^{r-1})^{p+r}}{(y_i^r + y_j^r)^{p+r-1}} \right) \\ & \geq (p+r-1) \max_{1 \leq i < j \leq n} \frac{(y_i y_j)^{r-2} (x_i y_i^{r-1} + x_j y_j^{r-1})^{p+r-2} (x_i y_j - x_j y_i)^2}{(y_i^r + y_j^r)^{p+r-1}}. \end{aligned} \quad (2.12)$$

*Proof.* It results from Corollary 2.1 and Theorem 2.5. □

**Remark 2.1.** In the conditions of Theorem 2.8, for  $r = 1$  we obtain the main result from [15].

In the following, we give some applications. These applications are refinements of some inequalities from [1].

**Application 2.1.** If  $n \in \mathbb{N}$ ,  $y_k > 0$ ,  $k \in \{1, 2, \dots, n\}$ ,  $p \geq 0$ ,  $r \geq 1$  and  $p + r - 2 \geq 0$ , then

$$\begin{aligned} & \frac{1}{y_1^p} + \frac{1}{y_2^p} + \dots + \frac{1}{y_n^p} - \frac{(y_1^{r-1} + y_2^{r-1} + \dots + y_n^{r-1})^{p+r}}{(y_1^r + y_2^r + \dots + y_n^r)^{p+r-1}} \\ & \geq (p+r-1) \max_{1 \leq i < j \leq n} \frac{(y_i y_j)^{r-2} (y_i^{r-1} + y_j^{r-1})^{p+r-2} (y_i - y_j)^2}{(y_i^r + y_j^r)^{p+r-1}}. \end{aligned} \quad (2.13)$$

*Solution.* In inequality (2.12) we consider  $x_k = 1$ ,  $k \in \{1, 2, \dots, n\}$ .

**Application 2.2.** If  $a, b, c > 0$ , prove that

$$\begin{aligned} & \frac{a^5}{b^2} + \frac{b^5}{c^2} + \frac{c^5}{a^2} - \frac{(ab^2 + bc^2 + ca^2)^5}{(a^3 + b^3 + c^3)^4} \\ & \geq \max \left( \frac{a^5}{b^2} + \frac{b^5}{c^2} - \frac{(ab^2 + bc^2)^5}{(b^3 + c^3)^4}, \frac{b^5}{c^2} + \frac{c^5}{a^2} - \frac{(bc^2 + ca^2)^5}{(c^3 + a^3)^4}, \frac{c^5}{a^2} + \frac{a^5}{b^2} - \frac{(ca^2 + ab^2)^5}{(a^3 + b^3)^4} \right) \\ & \geq 4 \max \left( \frac{bc(ab^2 + bc^2)^3 (ac - b^2)^2}{(b^3 + c^3)^4}, \frac{ca(bc^2 + ca^2)^3 (ba - c^2)^2}{(c^3 + a^3)^4}, \frac{ab(ca^2 + ab^2)^3 (cb - a^2)^2}{(a^3 + b^3)^4} \right). \end{aligned} \quad (2.14)$$

*Solution.* If  $n = 3$ ,  $p = 2$  and  $r = 3$ , from (2.12), inequality (2.14) follows.

**Application 2.3.** If  $a, b, c > 0$ , prove that

$$\frac{1}{a(b+c)^3} + \frac{1}{b(c+a)^3} + \frac{1}{c(a+b)^3} - \frac{1}{(a^2 + b^2 + c^2)^2} \left( \frac{a}{b+c} + \frac{b}{c+a} + \frac{c}{a+b} \right)^3 = 0 \quad (2.15)$$

if and only if  $a = b = c$ .

*Solution.* If  $n = 3, x_1 = \frac{1}{b+c}, x_2 = \frac{1}{c+a}, x_3 = \frac{1}{a+b}, y_1 = a, y_2 = b, y_3 = c, p = 1$  and  $r = 2$ , from (2.12), after calculus, we have

$$\begin{aligned} & \frac{1}{a(b+c)^3} + \frac{1}{b(c+a)^3} + \frac{1}{c(a+b)^3} - \frac{1}{(a^2+b^2+c^2)^2} \left( \frac{a}{b+c} + \frac{b}{c+a} + \frac{c}{a+b} \right)^3 \\ & \geq 2 \max \left( \frac{c^2(a^2+b^2+ac+bc)(b-a)^2}{(b+c)^3(c+a)^3(a^2+b^2)^2}, \frac{a^2(b^2+c^2+ba+ca)(c-b)^2}{(c+a)^3(a+b)^3(b^2+c^2)^2}, \right. \\ & \quad \left. \frac{b^2(c^2+a^2+cb+ab)(a-c)^2}{(a+b)^3(b+c)^3(c^2+a^2)^2} \right). \end{aligned}$$

From the inequality above, the conclusion of this application is obtained.

### 3. THE MAIN RESULTS ABOUT THE INEQUALITY FROM (1.4)

In this section, we prove a refinement of the inequality from (1.4).

**Theorem 3.9.** *If  $n, m \in \mathbb{N}, n > m, x_k \geq 0, y_k > 0, k \in \{1, 2, \dots, n\}$  and  $p \geq r \geq 0$ , then*

$$\sum_{k=m+1}^n \frac{x_k^{p+1}}{y_k^r} + m^{r-p} \frac{\left( \sum_{k=1}^m x_k \right)^{p+1}}{\left( \sum_{k=1}^m y_k \right)^r} \geq n^{r-p} \frac{\left( \sum_{k=1}^n x_k \right)^{p+1}}{\left( \sum_{k=1}^n y_k \right)^r}. \tag{3.16}$$

*Proof.* We note  $X_i = \sum_{k=1}^i x_k, Y_j = \sum_{k=1}^j y_k$ , where  $i \in \{1, 2, \dots, n\}$ . By using inequality (1.4), we have that

$$\begin{aligned} & \sum_{k=m+1}^n \frac{x_k^{p+1}}{y_k^r} + m^{r-p} \frac{X_m^{p+1}}{Y_m^r} = \sum_{k=m+1}^n \frac{x_k^{p+1}}{y_k^r} + m \frac{\left( \frac{1}{m} X_m \right)^{p+1}}{\left( \frac{1}{m} Y_m \right)^r} \\ & = \sum_{k=m+1}^n \frac{x_k^{p+1}}{y_k^r} + \underbrace{\frac{\left( \frac{1}{m} X_m \right)^{p+1}}{\left( \frac{1}{m} Y_m \right)^r} + \frac{\left( \frac{1}{m} X_m \right)^{p+1}}{\left( \frac{1}{m} Y_m \right)^r} + \dots + \frac{\left( \frac{1}{m} X_m \right)^{p+1}}{\left( \frac{1}{m} Y_m \right)^r}}_{m \text{ times}} \\ & \geq n^{r-p} \frac{\left( \sum_{k=m+1}^n x_k + X_m \right)^{p+1}}{\left( \sum_{k=m+1}^n y_k + Y_m \right)^r}, \end{aligned}$$

from where, inequality (3.16) follows. □

**Theorem 3.10.** *If  $n, m \in \mathbb{N}, n > m, x_k \geq 0, y_k > 0, k \in \{1, 2, \dots, n\}, p \geq r \geq 0$  and*

$$b_i = \sum_{k=1}^i \frac{x_k^{p+1}}{y_k^r} - i^{r-p} \frac{\left( \sum_{k=1}^i x_k \right)^{p+1}}{\left( \sum_{k=1}^i y_k \right)^r}, \quad i \in \mathbb{N}, i \leq n, \tag{3.17}$$

then

$$b_n \geq b_m. \tag{3.18}$$

*Proof.* If in inequality (3.16), we add in each member the sum

$$\sum_{k=1}^m \frac{x_k^{p+1}}{y_k^r},$$

we obtain the desired inequality (3.18).  $\square$

**Corollary 3.2.** *In the conditions of Theorem 3.10, we have*

$$b_n \geq b_{n-1} \geq \dots \geq b_2 \geq b_1 = 0. \quad (3.19)$$

*Proof.* It results from Theorem 3.10.  $\square$

**Theorem 3.11.** *If  $n \in \mathbb{N}$ ,  $x_k \geq 0$ ,  $y_k > 0$ ,  $k \in \{1, 2, \dots, n\}$  and  $p \geq r \geq 0$ , then*

$$\begin{aligned} \frac{x_1^{p+1}}{y_1^r} + \frac{x_2^{p+1}}{y_2^r} + \dots + \frac{x_n^{p+1}}{y_n^r} - n^{r-p} \frac{(x_1 + x_2 + \dots + x_n)^{p+1}}{(y_1 + y_2 + \dots + y_n)^r} \\ \geq \max_{1 \leq i < j \leq n} \left( \frac{x_i^{p+1}}{y_i^r} + \frac{x_j^{p+1}}{y_j^r} - 2^{r-p} \frac{(x_i + x_j)^{p+1}}{(y_i + y_j)^r} \right) \geq 0. \end{aligned} \quad (3.20)$$

*Proof.* It results from Corollary 3.1.  $\square$

The following applications are refinements of some inequalities from [3].

**Application 3.1.** If  $a, b, c > 0$ , prove that

$$\begin{aligned} \frac{1}{a^3(b+c)} + \frac{1}{b^3(c+a)} + \frac{1}{c^3(a+b)} &\geq \frac{(ab+bc+ca)^3}{6a^3b^3c^3(a+b+c)} + A \\ &\geq \frac{ab+bc+ca}{2a^2b^2c^2} + A \geq \frac{3}{2\sqrt[3]{(abc)^4}} + A \geq \frac{3}{2\sqrt[3]{(abc)^4}}, \end{aligned} \quad (3.21)$$

where

$$\begin{aligned} A = \max \left( \frac{1}{a^3(b+c)} + \frac{1}{b^3(c+a)} - \frac{(a+b)^3}{2a^3b^3(a+b+2c)}, \frac{1}{b^3(c+a)} + \frac{1}{c^3(a+b)} \right. \\ \left. - \frac{(b+c)^3}{2b^3c^3(2a+b+c)}, \frac{1}{c^3(a+b)} + \frac{1}{a^3(b+c)} - \frac{(c+a)^3}{2c^3a^3(a+2b+c)} \right). \end{aligned}$$

*Solution.* The first inequality is obtained from (3.20) for  $n = 3$ ,  $p = 2$ ,  $r = 1$ ,  $x_1 = \frac{1}{a}$ ,  $x_2 = \frac{1}{b}$ ,  $x_3 = \frac{1}{c}$ ,  $y_1 = b + c$ ,  $y_2 = c + a$  and  $y_3 = a + b$ . For the other inequalities, we use the inequalities

$$\frac{(ab+bc+cd)^3}{6a^3b^3c^3(a+b+c)} \geq \frac{ab+bc+ca}{2a^2b^2c^2} \geq \frac{3}{2\sqrt[3]{(abc)^4}},$$

see [3].

**Remark 3.1.** This applications is a refinement of the following problem given in the 26<sup>th</sup> International Mathematical Olympiad, Canada, 1995:

*If  $a, b, c > 0$  with  $abc = 1$ , then*

$$\frac{1}{a^3(b+c)} + \frac{1}{b^3(c+a)} + \frac{1}{c^3(a+b)} \geq \frac{3}{2}. \quad (3.22)$$

**Application 3.2.** If  $a, b, c > 0$ , then the inequality

$$\begin{aligned} & \frac{a^5}{b^2} + \frac{b^5}{c^2} + \frac{c^5}{a^2} - \frac{1}{9} (a + b + c)^3 \\ & \geq \max \left( \frac{a^5}{b^2} + \frac{b^5}{c^2} - \frac{(a+b)^5}{4(b+c)^2} \frac{b^5}{c^2} + \frac{c^5}{a^2} - \frac{(b+c)^5}{4(c+a)^2}, \frac{c^5}{a^2} + \frac{a^5}{b^2} - \frac{(c+a)^5}{4(a+b)^2} \right) \geq 0 \end{aligned} \quad (3.23)$$

holds.

*Solution.* In (3.20) we consider  $n = 3, p = 4, r = 2, x_1 = a, x_2 = b, x_3 = c, y_1 = b, y_2 = c$  and  $y_3 = a$ .

## REFERENCES

- [1] Bătinețu-Giurgiu, D. M. and Pop, O. T., *A generalization of Radon's Inequality*, *Creat. Math. Inform.*, **19** (2010), No. 2, 116–121
- [2] Bătinețu-Giurgiu, D. M., *Applications of J. Radon inequality* (in Romanian), *Gazeta Matematică*, **7–8–9** (2010), 359–362
- [3] Bătinețu-Giurgiu, D. M., Mărghidanu, D. and Pop, O. T., *A new generalization of Radon's Inequality and applications*, *Creat. Math. Inform.*, **20** (2011), No. 2, 111–116
- [4] Bechenbach, E. F. and Bellman, R., *Inequalities*, Springer, Berlin, Göttingen and Heidelberg, 1961
- [5] Bellman, R., *Notes on Matrix Theory - IV* (An inequality due to Bergström), *Amer. Math. Monthly*, **62** (1955), 172–173
- [6] Bencze, M. and Zhao, C.-J., *Application of the generalized Cauchy-Schwarz-Buniakovski's Inequality*, *Octogon Math. Magazine*, **10** (2002), No. 2, 591–598
- [7] Bergström, H., *A triangle inequality for matrices*, *Den Elfte Skandinaviske Matematikerkongress*, 1949, Trodheim, Johan Grundt Tanums Forlag, Oslo, 1952, 264–267
- [8] Ciurdariu, L., *A generalization of Bergström and Radon's inequalities in pseudo-Hilbert spaces*, *J. Science and Arts*, **10** (2010), No. 2, 233–238
- [9] Hardy, G., Littlewood, J. E. and Pólya, G., *Inequalities*, Cambridge University Press, 1934
- [10] Marinescu, D. Ș. and Schwarz, D., *Radon's Inequality*, *Revista de Matematică din Timișoara*, **4** (2009), 3–7 (in Romanian)
- [11] Mărghidanu, D., *Generalizations and refinements for Bergström and Radon's Inequalities*, *J. Science and Arts*, **8** (2008), No. 1, 57–61
- [12] Mărghidanu, D., Diaz-Barrero, J. L. and Rădulescu, S., *New refinements of some classical inequalities*, *Math. Inequal. Appl.*, **12** (2009), No. 3, 513–518
- [13] Mitrinović, D. S., Pečarić, J. E. and Fink, A. M., *Classical and New Inequalities*, Kluwer Academic Publishers, Dordrecht, Boston, London, 1993
- [14] Mitrinović, D. S., *Analytic Inequalities*, Springer-Verlag, Berlin, 1970
- [15] Mortici, C., *A new refinement of the Radon Inequality*, *Math. Commun.*, **16** (2011), 319–324
- [16] Nesbitt, A. M., *Problem 15114*, *Educational Times*, **3** (1903), 37–38
- [17] Panaitopol, L., *Consequences of Hölder's Inequality* (in Romanian), *Gazeta Matematică*, **107** (2002), No. 4, 145–147
- [18] Pop, O. T., *About Bergström's Inequality*, *J. Math. Inequal.*, **3** (2009), No. 2, 237–242
- [19] Radon, J., *Theorie und Anwendungen der absolut additiven Mengenfunktionen*, *Sitzungsber. Acad. Wissen. Wien*, **122** (1913), 1295–1438
- [20] Rațiu, A. and Minculete, N., *Several refinements and counterparts of Radon's inequality*, *Math. Bohem.*, **140** (2015), No. 1, 71–80

EDITORIAL BOARD OF GAZETA MATEMATICĂ  
 14 ACADEMIEI STREET  
 BUCUREȘTI 010014, ROMANIA  
*Email address:* dmb\_g@yahoo.com

NATIONAL COLLEGE "A. I. CUZA"  
 5, 1 MAI AVENUE  
 CORABIA 235300, ROMANIA  
*Email address:* d.marghidanu@gmail.com

NATIONAL COLLEGE "MIHAI EMINESCU"  
5 MIHAI EMINESCU STREET  
SATU MARE 440014, ROMANIA  
*Email address:* ovidiutiberiu@yahoo.com